Tuesday

Please work through the questions using the method they are asking you to.

. Count the number of ninths to work 3 X S

Use this method to work out:
2 X 2 > X 3 4 x Z
8 16 11

. Use the model to help you solve 3 % f‘—ﬂ

?

1 i 1 1 1 1 1 1 1 1
i0 |10 [10 [ 10 |10 ﬂ]ﬁJIl'crl'ﬂIlT;JI
2 2 2
IDL 10 10
Use this method to work out:
2 3 5
-%x3 — x4 4 x —
7 16 12

.’ Use the number line to help
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you solve 2 X - : : I
| | I I I I
0o ! 2 3 & 5 & 7
Use this method to work out: 7 7 7 7 7 7T 7
— X 3 —x 2 4 x —
10 7 20

Extension: Simplify your answer. Use the instructions on yesterday's work to

find out how.




